What sign is called "An obstacle bypass on the left"?

1 2 3
4 5

Is the bus allowed to enter the intersection in this situation?

11 1.Allowed
2.2 2.Prohibited
3.3 3.Allowed if the bus is traveling on the established route.
4.4
55 Ans.'2
Ans.'3
From which lane should you turn right in the situation shown?
A traffic circle is arranged at the intersection. The roadway you are
approaching an intersection has two lanes. Which lane do you have
to take to turn when entering the intersection?
1.Right lane
2.Left lane
/——-——_ 3.Right or left lane.
Ans.'3
1.0Only from the second lane.
2.0nly from the rightmost lane marked "A".
Ans.'2

Is it allowed to turn into the yard at this point?

BT

1.Allowed
2.Prohibited

Ans.'1

Moving to the leftmost lane on two-way roads with three lanes
marked with markings, of which the middle lane is used for traffic in
both directions (except for roads with reversing traffic control)

1.Allowed
2.Prohibited
3.Allowed, only to overtake, bypass, turn left or U-turn.

Ans.'2




Which answer correctly states the permitted direction of travel?

1.Just a U-turn
2.Straight and U-turn
3. Straight ahead only

Ans.'3

In which direction is traffic prohibited?
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L
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1.Left and right

2.Straight ahead and in the opposite direction
3.Straight ahead only

4.1n all directions

Ans.'1

Turning around is prohibited:

1.0n crosswalks

2.In tunnels

3.0n bridges, overpasses and under them
4 At railway crossings

5.In all the above cases

Ans.'5

Is the driver of a yellow bus allowed to drive into an intersection?

1.Allowed
2.Prohibited
3.Allowed if the bus is moving along the designated route

Ans.'2

Which answer correctly states the permitted direction of traffic?

1.Straight on and left to the yard.
2.Straight ahead only.

3.0nly a U-turn.

4.Straight ahead and a U-turn

Ans.'2

A U-turn is prohibited if the visibility of the road in at least one
direction is less than:

1.100 m.
2.150 m.
3.300 m.

Ans.'1




You are driving on a two-way road with three lanes. In what case is it
allowed to enter the middle lane?

1.0Only to overtake

2.0nly to go around

3.0nly for making a left turn or a U-turn
4.1n all of the above cases

Ans.*4

In which direction is a truck allowed to drive?

1.To the right only
2.To the right, to the left and in the opposite direction
3.To the left only

Ans.'2
In which picture does the driver correctly perform the maneuver? Which vehicle driver correctly performs a U-turn?
\
1 2 3
\
1.1 1.The driver of the blue vehicle
2.2 2.The driver of the red car
3.3 3.Both drivers
Ans.'1 Ans.'2

On roads with two-way traffic, in the absence of road signs, markings
and dividing strips, drivers must bypass the elements of road
structures on the roadway:

1.0n the right
2.0n the left

Ans.'1

In which direction is traffic prohibited?

1.0nly to the left

2.0nly to the right
3.Straight and left
4.1n all directions

Ans.'2




The driver of which vehicle violates the rules for turning from a road
that has a braking lane?

Is the driver of the red car allowed to continue driving in this
situation?

1.Both drivers
2.The driver of the yellow car
3.Both drivers are turning correctly

Ans.'2

1.Allowed
2.Prohibited

Ans.'2

On a two-way road with three lanes, you need to turn left. From
which lane will you perform this maneuver?

1.From the right lane

2.From the middle lane

3.From the right or middle lane

4.From the middle lane when the right lane is occupied

Ans.'2

Is the driver of a red car allowed to drive on the tramway?

1.Allowed
2.Prohibited

Ans.'1

Turning around is prohibited:

1.At crosswalks and in tunnels

2.0n bridges, overpasses and under them

3.At railway crossings

4.When visibility of the road is less than 100 m in at least one
direction

5.In all the above cases

Ans.'5

In which direction is traffic allowed?

1.Left only.
2.Straight, left and U-turn
3.Straight ahead only

Ans.'2




The drivers of which vehicles violated the requirements of the road
sign?

When crossing the road concurrently with oncoming vehicles, the
road must be given way by

1.The driver of the vehicle on the left
2.The driver of the vehicle on the right

Ans.'1
1.Motorcycle drivers
2.Drivers of a car and a motorcycle with a side trailer
3.Car driver only
4.Drivers of all vehicles
Ans.'4
The driver of which vehicle has first priority? Must the bus driver on the established route give way in this
situation?
1.Truck driver
2.Bus driver 1.He must
. 2.He must not
Ans’1 | 3.He must not, because he is driving straight ahead
Ans.'1

If it is difficult to pass on the slopes marked with the appropriate sign,
you must give way

1.To a vehicle going downhill
2.To a public vehicle
3.Vehicle going uphill

Ans.'3

The driver of which vehicle must give way?

1.Tractor driver
2.Bus driver

Ans.'2




Which of the following has the advantage in traffic:

-

Are drivers of vehicles in populated areas required to give way to
public vehicles starting from a designated and equipped haulting
point?

1.Yes
2.No
Ans.'1
1.Blue car, as red changes direction to the left.
2.Red car, as the red car is on the right when changing lanes at the
same time.
3.Blue car, as it is on the left side when changing lanes at the same
time
Ans.'2
The driver of which vehicle must give way? The driver of which vehicle must give way?
1.Driver of a passenger car. 1.Bus driver
2.Truck driver 2.Car driver
Ans.'1 Ans.'2
The driver of which vehicle must give way? Specify the order of passing the intersection
1.Bus driver 1.Bus, truck, horse-drawn carriage.
2.Tram driver 2.Bus and horse-drawn carriage, truck
Ans.'1 Ans.'2




On oncoming traffic, on steep descents, you must give way:

1.The driver of a public vehicle
2.The driver of the vehicle going uphill
3.Driver of vehicle moving downhill

Ans.'2

Are public vehicles in populated areas allowed to occupy the leftmost
lane of a road that has 3 or more lanes in one direction?

1.Allowed when overtaking.
2.Allowed when making a left turn or U-turn.
3.Allowed in all cases.

Ans.'2

Are vehicles performing regular transportation of passengers on all
roads allowed to occupy the leftmost lane of a road that has 3 or
more lanes in one direction?

1.Allowed when overtaking
2.Allowed, when making a left turn or a U-turn
3.Allowed in all cases

Ans.'2

What should the bus driver do in this situation?

1.Give way to a passenger car.
2.Turn on the turn signal, give a sound signal and start moving.
3.Start moving, making sure that the driver of the car gives way.

Ans.'3

The driver of the white passenger car in this situation

The driver of which vehicle has the right to priority movement?

1.Must give way to the bus, which begins to move from the
designated place of the stop.

2.has the advantage in traffic, as the bus is switching to the second
lane.

Ans.'1

1.The driver of a passenger car.
2.Bus driver.

Ans.'1




The driver of which vehicle has the advantage in this situation?

1.Bus driver

2.The driver of a passenger car.

3.The driver of a passenger car has no right to move into the right
lane.

Ans.'1

Is a bus driver obliged to give way to a truck at an intersection with
roundabout traffic?

1.Obliged.
2.Not obliged.

Ans.'2

Is the driver of a bus continuing straight ahead required to give way
to a truck?

Who do you have to give way to if you intend to continue driving
straight ahead?

1.Required.
2.Not required.

Ans.'1

1.Two vehicles.

2.0nly a bus.

3.0nly a passenger car.
4.None.

Ans.'1

Which vehicle must you give way to if you intend to continue driving
straight ahead?

1.0nly a passenger car.

2.0nly a bus and a passenger car.
3.All vehicles.

4.0nly a motorcycle.

Ans.'2

Is the motorcycle driver obligated to give way in this situation?

1.Obligated.
2.Not obligated.

Ans.'2




Do you have the right to make a maneuver on the marked path in
this situation?

1.Yes.
2.No.

Ans.'2

Which vehicle you must give way to as you continue straight ahead?

1.0Only a passenger car.
2.0nly to a truck.

3.Two vehicles.
4.None.

Ans.'3

Are you obligated to give way to a passenger car if you continue
driving straight ahead?

Do you have to give way to a car that is making a U-turn when
starting from the roadside?

F

1.Obligated.
2.Not obligated.

Ans.'2

1.Obligated.
2.Not obligated.

Ans.'1

Which vehicle should you give way to when you continue driving
straight ahead?

Which vehicle should you give way to if you intend to make a left
turn?

1.0nly a passenger car.

2.None.

3.0nly to a car and a motorcycle.
4 All vehicles.

Ans.'1

1.Motorcycle.
2.Patrol car.
3.All vehicles.

Ans.'3




What vehicle must you give way to if you intend to make a U-turn at
an intersection?

i é_;f

Which vehicle must you give way to if you intend to make a left turn
at an intersection?

1.Passenger car.
2.All vehicles.
3.Truck.

Ans.'2

1.Truck
2.All vehicles.
3.None.

Ans.'2

Which vehicle must you give way to if you intend to make a left turn
at an intersection?

»

A .J‘

1.None.

2.Bus only.

3.0nly to a truck with flashing beacon on.
4.Both vehicles.

Ans.'2

What vehicle must you give way to if you intend to make a U-turn at
an intersection?

1.0nly the truck.

2.The passenger car only.
3.All vehicles.

4.None

Ans.'1

Which vehicle must you give way to if you intend to make a left turn
at an intersection?

Are you obligated to give way to a passenger car if you intend to
make a right turn at an intersection?

1.The bus

2.The bus and passenger car.
3.The passenger car only.
4.None

Ans.*4

1.Obligated.
2.Not obligated.

Ans.'2




Which vehicle must you give way to if you intend to make a right turn
at an intersection?

Do we have to give way to the driver of the oncoming car in this
situation?

1.None.
2.The passenger car.
3.The motorcycle and the passenger car.

Ans.'1

Ans.'1

In this situation do you have to

1.Give way
2.Drive the first

Ans.'1

In this situation

1.Can we bypass the truck on the right side?
2.Can we continue driving only after the truck has passed?
3.Both actions are allowed

Ans.'2

In this situation

1.You ought to give way
2.You can pass the first

Ans.'2

In this case of straight driving is it allowed to

1.Bypass the truck on the right.
2.Continue driving only after the truck has passed
3.Both of these cases are permissible

Ans.'3




In this situation you have

1.Give way
2.You have the right to travel first.

Ans.'2

Going out into the road in this situation, we are obliged to give way to

1.Drivers approaching from the right
2.All drivers
3.Drivers and pedestrians

Ans.'3

In this situation who is to give way?

1.The driver of a passenger car.
2.Motorcycle driver.

Ans.'1

In which picture does the driver of the blue car have the priority right
of driving over the other driver?

Ans.'3

In the reverse marked place

1.itis allowed if there is no train approaching
2.Allowed
3.Prohibited.

Ans.'2

Which of the vehicle driver should give way?

1.Truck
2.Passenger car

Ans.'2




In which direction from this zone can the driver of a passenger car
continue his/her travel?

1.Only straight.

2.Straight and right.

3.Any

4.Straight, left and opposite

Ans.*4

When making the right turn to the road adjacent to the right, it is
necessary to

~

1.Continue driving through this zone and make a turn only from this

zone
2.Switch to the braking zone and make a turn only from this zone
3.Both options are correct.

Ans.'2

To whom should the way be given when entering the left yard?

Reversing in this intersection is

1.0Only the driver approaching from the opposite side
2.Driver and pedestrians
3.None

Ans.'2

1.Allowed.
2.Prohibited.

Ans.'1

Does the driver of a light truck have to give way to the driver of a
crane changing his lane?

1.Yes, if the crane is equipped with orange beacons
2.Yes
3.No

Ans.'3

Is it allowed to reverse in this place?

1.Yes
2.Allowed if visibility is more than 100 meters

Ans.'2




Should the driver of a passenger car change his/her lane after
overtaking the right lane?

1.Should the driver of a passenger car change his/her lane after
overtaking the right lane?

2.Yes

3.No

Ans.'1

In cases when the traffic lanes intersect and the order of crossing is
not defined by the rules, the road must be given by the driver

1.to whom the vehicle is approaching from the right
2.to whom the vehicle is approaching from the left

Ans.'1

Which driver should give way?

Is it allowed to reverse in the place marked

1.The driver who starts the movement
2.The driver ready to stop

Ans.'1

1.Allowed
2.Allowed if it does not interfere with drivers of public vehicles
3.Prohibited.

Ans.'3

The passenger car

1.0ught to give way
2.Has a priority right, since it approached from the right

Ans.'1

Does the driver have to change his/her lane for the right lane before
reversing in this situation?

1.Yes
2.No

Ans.'2




Being within the bridge it is allowed to reverse?

Enter the intersection from the marked zone

1.Allowed if visibility is more than 100 meters
2.Prohibited.

Ans.'2

1.Allowed only when returning
2.Allowed in any case

Ans.'2

Is it allowed to reverse in this place?

1.Yes
2.Allowed if visibility is more than 100 meters
3.No

Ans.'2

Is the driver traveling without changing lanes required to give a way
to the driver changing lanes from the right?

1.Required
2.Not required

Ans.'1

Reversing in this place is

1.Allowed
2.Prohibited.

Ans.'1

Do you have to give way to the driver in front of you if you start
moving from the parking lot at the same time?

1.Yes
2.No

Ans.'1




Is it allowed to reverse at the intersection?

1.Yes

Is the driver allowed to make a right turn in this situation?

2.Yes, if it does not create an obstacle for pedestrians at the l.Yes
intersection 2.No
3.No Ans.'2
Ans.'3
In this situation, which signal indicator light should the driver turn on
when making a stop?
When reversing due to lack of visibility the driver is required to
1.Make a sound signal
2.Turn on the emergency light signal
3.Seek help from others
. Ans.'3
1.Right
2.Right, left after changing lanes
3.Left

Ans.'3

It is allowed to reverse in this situation when reversing using the
entrance of the yard?

1.Allowed if it does not obstruct other traffic users
2.Prohibited.

Ans.'1

Is the passenger driver allowed to start movement?

1.Yes
2.Yes, if it does not obstruct the lorry driver
3.No

Ans.'2




In which option is reversing allowed?

1.At the intersection.
2.In areas that are not on the right edge
3.At pedestrian crossings

Ans.'2

In this situation is the driver allowed to drive on the railway lines?

1.Yes
2.Allowed, if making a turn to left reverse
3.No

Ans.'3

Is the driver required to make a signal by indicator light when making
a left turn?

1.Yes
2.Yes, when there is an oncoming traffic
3.Not required

Ans.'1

Is the passenger car driver allowed to approach the passenger on
the bridge while reversing?

1.Yes
2.Yes, if he/she does not create an obstacle for other traffic users
3.No

Ans.'3

Is it allowed to make a reverse in this situation?

Which rule does the driver violate when entering the yard?

1.Allowed if visible at a distance of 200m and more for the traffic
users coming from behind
2.Prohibited.

Ans.'1

1.He/She make a right turn only in the zone of the straight mark
2.Does not give a signal with a indicator light
3.Both violations at the same time

Ans.'2




Are we required to give way to the truck?

1.Required
2.Required, if he/she gives a hand signal
3.Not required

Ans.'3

The way is to be given by

1.Diver of a passenger car
2.Truck driver

Ans.'2

Is it allowed to correct and continue driving in the required direction
by reversing at the intersection passed accidentally?

1.Yes
2.No

Ans.'2

Driving can be continued from this area

1.Only in the left direction
2.Left and in opposite directions
3.Right, left and in opposite directions

Ans.'2

Is it allowed to enter the right yard by reversing in the mentioned
situation?

1.Yes, if we do not interfere with public transport
2.No

Ans.'2

Changing lanes to the adjacent zone in this situation

1.You must give way to the drivers passing along the mentioned
zone
2.You have priority of driving

Ans.'1




Is it allowed to approach the passenger with reverse?

1.Yes
2.No

Ans.'1

What will you do when making a left or reverse outside the
intersection?

1.The way must be given to the oncoming vehicle.
2.The way must be given to the oncoming vehicle and
simultaneously traveling trams

Ans.'2

Is reverse allowed in this situation?

1.Prohibited.
2.Allowed till the pedestrian crossing

Ans.'1

Do you have to give way to the driver reversing when starting the
movement?

1.Yes
2.No

Ans.'1

Approaching the passenger when reversing is

1.Allowed

2.Allowed if it does not obstruct the drivers' traffic
3.Prohibited.

Ans.'3

Which driver violates the traffic rules by leaving the intersection with
roundabout traffic?

1.Passenger car
2.Both drivers
3.None

Ans.'1




Reversing at this intersection is

In which direction is driving allowed?

1.Allowed 1.Only left
2 Prohibited 2.Straight and left.
’ ' 3.Left and reverse.
Ans1 Ans.'1
Are you required to turn on the right reverse indicator at this
intersection?
The driver must give way when entering a nearby area
1.0Only to the pedestrian.
2.0nly to cyclists.
3.To cyclists without obstructing the pedestrians
Ans.'3

1.Yes
2.No
3.Yes, except for making a reverse.

Ans.'1

When going onto the road from the adjacent area, the driver must

1.Give way to the pedestrians

2.Give to the vehicle traveling on the same road.

3.Must give to the drivers of vehicles travelling on the same road
without obstructing the pedestrians.

Ans.'3

Reversing after the sign is allowed

1.0nly in case of 100 meters visibility from both sides
2.In case of creating an obstacle
3.In neither case

Ans.'3




Giving a signal is an advantage over other traffic users

1.Yes, itis
2.Yes, it is, only when changing lanes
3.No, it is not.

Ans.'3

Right reversing at the marked track is

1.Allowed
2.Prohibited.

Ans.'1

Which lane can you continue driving after passing the truck?

1.Only right
2.Allowed in both parallel zones

Ans.'1

Reversing in the marked area is

1.Allowed.
2.Allowed if there are no public vehicles
3.Prohibited.

Ans.'3

Who has the priority of driving?

1.Passenger car
2.Truck driver

Ans.'2

Which vehicle driver has the right of way when changing lanes at the
same time?

1.Truck
2.Passenger car

Ans.'2




Is it allowed to go backwards?

1.Yes
2.No

Ans.'2

In case of entering the right yard, we must give way to

1.Pedestrians only
2.Cyclist only

3.None

4.Cyclist and Pedestrians

Ans.'4

1.1t can be done in one go
2.100 meters visibility is ensured from both sides
3.Prohibited.

When moving in the direction of this ascent, reversal is allowed if:

Ans.'2

Which vehicle driver should give way?

1.Bus driver
2.Passenger car

Ans.'1

Reversing is allowed in this area

1.Allowed in conditions of 100 m visibility from both sides
2.Prohibited.

Ans.'1

Is it allowed to cross the bridge if it does not obstruct the driver of the
motorcycle?

1.Yes
2.No

Ans.'1




